
1



•

•

•

• https://www.andrews.edu/~rwright/Precalculus-
RLW/Text/TOC.html

•

Slides created by 
Richard Wright, Andrews Academy 
rwright@andrews.edu

2



•

•

•

3



•

•

•

•

•

4



•

•

•

•

•

5



•

•

•

6



•

𝑑 = 𝑥2 − 𝑥1 2 + 𝑦2 − 𝑦1 2

𝑑 = 2 − −1
2
+ −5 − 3 2

𝑑 = 32 + −8 2

𝑑 = 9 + 64

𝑑 = 73

𝑀 =
𝑥1 + 𝑥2

2
,
𝑦1 + 𝑦2

2

𝑀 =
−1 + 2

2
,
3 + −5

2

𝑀 =
1

2
,−

2

2

𝑀 =
1

2
,−1
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(x, y)
(-2, 4) 
(-1, 3.5) 
(0, 3) 
(1, 2.5) 
(2, 2) 
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No real x-int
y-int: (0, 2)
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m=3
b=-4
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𝑚 =
6 − −2

1 − −3

𝑚 =
8

4
= 2
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y=3x-2
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y = −
1

2
x + 2

19



•

•

•

•

20



•

•

•

•

•

•

•

21



• •

•

x -2 -1 0 1 2

y -8 -1 0 1 8

Yes, each x is matched to exactly one y 
Yes, each x gives exactly one y-value 𝑦 = −𝑥2 + 4

No, some x give two y-values 𝑦 = ± −𝑥 + 16
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f(-1)=-1
f(2)=6 
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t≠0, (-∞,0) ∪ (0,∞)
x≥8/5, [8/5, ∞)
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Function
Not function 
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-5/2, 6 
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Increasing (-∞,-2) ∪ (2, ∞)
Decreasing (-2, 2)
Minimum (2, -16)
Maximum (-2 16) 

31



•

•

32



•

•

33



•

•

•

•

•

34



•

•

•

•

•

35



•

•

•

•

•

36



•

•

•

•

•

37



•

•

•

•

•

38



•

•

•

•

•

39



•

•

•

•

•

40



•

•

•

•

•

41



•

•

•

•

•

42



•

•

•

•

•

43



•

•

•

•

44



•

•

•

•

•

•

•

•

•

ℎ(𝑥) = |𝑥 − 2| − 3
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Quadratic 
Reflection over x-axis, shift 5 left, shift 2 up 
Graph 
𝑔(𝑥) = −𝑓(𝑥 + 5) + 2
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Parent function is f(x)=x²
Shift right 2: c=2 
Shift up 6: d=6 
Reflect over x-axis: -f(x) 
g(x)=-(x-2)²+6
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2x
4
x²-4
(x+2)/(x-2) 
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x²-2x+1
x²-1

Domain of g: x≠0
Domain of f: x≥0
Let g=domain of f (or excluded domain) and solve for x 
1/x≥0 → true when x>0 
Answer: x>0 
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g(x)=x+3; f(x)=2|x| 

g(x)=(8-x)/5; f(x)=³√(x)
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f⁻¹(x)=x³-10
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f⁻¹(x)=-√(x+2)
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Year 2000 2001 2002 2003 2004

P 66.8 67.6 71.5 73.5 73.8

P=1.99t+66.7 
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Inverse variation 
d=1650/p 
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